General Studies
Time allowed : 1 hour
Full marks : 100

Answer all the questions.
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INSTRUCTIONS
\ Candidates should read the following instructions carcfully before answering the questions:
1. This booklet consists of 28 pages including this front, Verify the Page Nos. and Test Booklet o
Series on each page and bring at once ’s notice any discrepancy. oot
‘ 3 Wi '-jd;.{:" . ;
2. Answers will have to be given in ot d for the purpose. it .%‘

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the Answer-Sheet as per instructions sent to you in the Admit
Card. Do not fold the Answer-Sheet as this will result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to you to be -4
or the best. Now darken the circle corresponding to the letter of the selected answer in F
Answer-Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Adm

Card and in the Answer-Sheet.

5. One and only one circle is to be fully blackened for answer. Any spot in any other

circle
: ?‘{m}e) or in wrong circle will be considered as wrong answer. |

ﬂmﬁl will be negative marking of ';‘ mark for each wrong answer. J
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the brother of C. D is the son of B. G is the spouse
- of B. H is the father of G. Who is the grandfather
of D?
(A) A
(B) C
©OF
(D)H

2. ‘Indiahas a few countries as her immediate
neighbours’— how many?

(A) Eight
(B) Seven
(C) Six

(D) Nine

3. The simplest value of 1000 — 9999 will be
(A) 1
(B) 01
(C) 001
(D) 0

4. The ratio of speeds of the minute-hand and
the hour-hand of a clock is

(A) 1:3
(B) 1:4
©) 4:3
(D) 12:1

5. Find the missing character:

35187
4 6 4 6
MEEERE
58 | 58 [62 | ?

(A) 126

(B) 122

(C) 128
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1. Ais the father of C. But C is not his son.
- Eis the daughter of C. F is the spouse of A. B is
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(A) 1:3
(B) 1:4
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6. The capital of Belgium is
(A) Prague
(B) Sofia
(C) rBrussels
(D) Brasilia

7. Theincome of Kabitaexceeds that of Sabita
by 10%. How much less is the income of Sabita
than that of Kabita?

(A) 9%

1
®) 957%
(C) 10%

(D) 10%

8. In the series 7, 14, 28, ..., what will be the
10th term?

(A) 1792
(B) 2456
(C) 3584
(D) 4096

9. In a club, every member contributed as
many 10 rupees as the number of members to raise
the subscription of amount Rs. 4000. How many
members are there in that club?

(A) 40
(B) 30
(© 20
(D) 10
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(A1
(B) 2
©3
(D)6

11. Jumbled letters of a meaningful word
are given. You are to rearrange these letters
and select from the given alternatives the word
which is almost opposite in meaning to the
rearranged word.

QHNASVUI
(A) Surrender
(B) Debase

(C) Destroy
(D) Ruin

12. The Nasik city is situated by the river
(A) Godawari

(B) Tapti

(C) Narmada

Qﬁ) Cauveri

(B) 2
* ©3
D

1. a3l @dfqe W erraefE SRS
@l zell SrwAgfeEs AENS  aR

FepePr sty fden F@l 9ﬁ:ﬁ§ﬁfﬁmﬁ
A< A e e e 4
QHNASVU] e




15. Thereis aroad of 2 metres broad, around a
rectangular garden whose length is 25 metres and
breadth is 17 metres. The area of the road is

(A) 184 sq.metres
(B) 88 sq.metres
(C) 34 sq.metres
(D) 50 sq.metres

16. If 1 is added to the numerator of a fra

it becomes —;— and if 1 is subtracted fi

denominator of it, it becomes % _Find the fre
(A)-
(B)

(©)
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India Movement was launched?
(A) Lord Mountbatten
(B) Wavell
(C) Willington
(D) Linlithgo

19. Who was the Viceroy in India when Quit

' 20. All surfaces of a cube are coloured. If a

numbe_r of '_smaller cubes are taken out from it, each

: AalIdB togethercompleteaworkm 2 days.
> taken by B to complete the work

(B) e
(OREGRT!
(D) femfEeean
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22. Variable Energy Cyclotron Centre s located
in
(A) Kolkata
(B) Mumbai
(C) Delhi
(D) Hyderabad

23. Which railway in India was declared as a
world heritage?
(A) Taj Express
(B) Rajdhani Express between Delhi and
Guwahati
(C) Delhi—Kalka Special Train
(D) Darjeeling—Himalayan Railway

24. Which country invented the term ‘historical
sovereignty’ to claim its authority in a particulas
region”?

(A) USA

(B) North Korea
(C) China

(D) Syria

25. Find out the wrong match :
(A) Gaddalika — Parashuram
(B) Virangana — Bankim Chandra

Kabya Chattopadhyay
(C) Samyaor — Bankim Chandra
Equality Chattopadhyay

(D) Ghare Baire— R. N. Tagore

26. Pis any point inside the rectangle ABCD.
Then which one of the following is correct?

(A) PA+PC=PB +PD

(B) PA? + PC? =PB? + PD’
(C) PA? + PB? = PD? + PC?
(D) PA?+ PD?=PB? + PC*

D-7
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(A) PA +PC=PB +PD
(B) PA?+PC?=PB? + PD?
(C) PA?+PB?=PD?+PC?
(D) PA?+ PD? = PB? + PC?
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28. Which number is in the square, ellipse and
triangle?

1 ﬁ GES

(A) 1
(B) 5
©) 6
D) 7

29. Find the smallest positive numbe
subtracted from the number 9545 so that the result

of subtraction is a perfect square.
(A) 59
(B) 106
(C) 136
(D) 89
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31. If the number of works performed by p men
inpdaysisp, then find the number of days in which

g men can perform g works.
(A) pdays
(B) qdays

(©) _qfi days

2 .
(D) P days

32. Two pipes fitted in a tank separately fills it
with water in 6 hours and 12 hours respectively. In
how much time will those two pipes together fill
the tank?

(A) 3 hours
(B) 4 hours

(C) 5 hours

(D) % hours

33. Theratioof Assam teaand Darjeelingfea in
aspecialblendis 3 :4. Then determine the quantity
of the mixture of tea in which 1 kg of Assamtea is
present.

(A) 1-2kg
(B) 12kg
(C) kg

©) 7 ke

34. The present age of a father is thrice that of
his daughter. 15 years ago, the age of the father
was 6 times that of his son. If the daughter is
4years younger than the son, determine the present
age of the father.

(A) 51 years
(B) 53 years
(C) 55 years
(D) 56 years

D-9 CDF/19
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36. Find the simplest value of
a7 _201
( 7)(2 9)(2 11) (2 203)

| 2
I p]
| (A) 313

| : 2
| (B) 29 -

© 203

(D) %

37. The code name used by the Indian nuclear
scientists in the case of ‘Pokhran I’ was

(A) -Operation Shakti
(B) Laughing Buddha

(&) (jperaﬁon Sunshine
(D) Operation Blue Star

bserved as National Youth




Umbn Council of Ministers.

40. Vasco-da-Gama was a
(A) Dutch
(B) Portuguese
© French
(D) British

41. Arrange the followmg in a logical or

(1) Frog

(2) Eagle

(3) Grasshopper
(4) Snake

(5) Grass
(A)1,3,5,2,4
(B)3,4,2,5,1
(€)35;3,1,4,2
(D)5,3,4,2,1

sident on rhe advme of the

o (A)1,3,5,2:4

(3) Grasshopper
(4) Snake
(5) Grass

(B) 3,4,2,5,1

53,1, 4088

(D) 35,384,211




44. In a certain code language, THANKS is

written as SKNTHA. How is STUPID written in SKNTH A (3 AT
that code 1anguage‘? Frova @ AT
(A) DIPUTS (A) DIPUTS
(B) DISPUT
o (B) DISPUT
(C) DIPUST DIPQT
(D) DIPSTU

45. If MINJUR is coded as 312547 and TADA
as 6898, how can MADURALI be coded?
(A) 3498178
(B) 3894871
(C) 3849781
(D) 3894781

add&ay

4s. nﬁmmmmwm 3
TADA <41 &1 6898, ©i2tsi MADUR
@S T WA 2 |

(A) 3498178

(B) 3894871

(C) 3849781
(D) 3894781



48. The simple interest and the compound
interest of a capital are respectively Rs. 1440 and
Rs. 1483-20 in 2 years. Determine the rate of
interest.

(A) 6%

(B) .5%

(C) 6:'5%

(D) 9%

49. Find the ratio of ‘20 kms. per hour” and
‘20 metres per second’.
(A) 79
(B) 5:7
(C) 5:18
(D) 1:1

50. Which is the highest dam in India?
(A) Hirakund Dam
(B) Bhakra Dam
~ (C©) Farakka Dam
(D) Kosi Dam

TG 1440 B 6 148320 Bil 13

e | -

ap B1 6%
(B) 5%
(C) 6:5%
D) 9%
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53. If x:y:z = 3:2:1, then find the value of

- x—2y+3z

x+y-3z
(A) 1
(B) 0
(C) -1

1
D) 2

54. When were the Olympic Games first held?

(A) In 750 BC
~ (B) In776 BC

(C) In 394 AD

(D) In 1904 AD

55, In two acid solutions, the quantities of
“acids are respectively 40% and 60%. In what ratio

are the solutions to be mixed so that the quantity of

~ acid in the new mixture will be 50%?

(A) 1:2

40% & 60% | 3 7o T3 I TATS G

et wpifire wffa 50% A*
(A) 1:2
(B) L:L

) 13



58. Agra Fort was built by
(A) Shahjahan
(B) Akbar
(C) Muhammad-bin-Tughlagh
(D) Humayun

59. In a row of students, Keya is 7th from the

right and Amal is 17th from the left. When they
interchange their positions, Keya becomes 3
from the right. Find the number of students.
(A) 47
- (B) 48
(C) 49
(D) 50

60. In an examination, 25% of the candidates

pass in Mathematics and 20% of the candidates

- pass in Enghsh If 10% of the candidates pass in
both the subjects, then determine the percentage
of the candidates who fail in both the subjects.
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(D) 12"

62. Choose the odd word:
(A) Mackenzie
(B) Yenisei
(C) Michigan
(D) Danube

63. What is the headquarters of Reuter news
agency?
(A) New York
(B) Washington
(C) London
(D) Birmingham

64. Jumbled letters of a meaningful word
are given. You are to rearrange these letters
and select from the given alternatives the word
which is almost opposite in meaning to the

62. ety = o T
(A) Mackenzie
(B) Yenisei
(C) Michigan
(D) Danube
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66. In an examination, a student scores
4 marks for every correct answer and losses 1 mark
for every wrong answer. If he attempts in all
60 questions and secures 130 marks, the number of
questions he attempted correctly is

(A) 35

(B) 38
(©) 40
(D) 42

67. Find the missing character: a dd? :
& & &

(A) 12
(B) 25
(C) 48

(D) 52




(ii) A will sit in the same _
i 31?:111]; ;ut H is not in the same car-
(iii) B and C can’t sit in the same car 11
which D is sitting.
(iv) F will sit in the car of four people only
along with A and E but certainly not
with G.
If H and G are sitting in the same car, who
are other two students sitting in the same car?
(A)Band C
(B) Cand D
(C)Band D
(D)Eand B

70. A wall clock needs 3 seconds togst
6 bells. Determine the time it requires tg
9 bells.

(A) 6 seconds
(B) 5-8 seconds
(C) 5 seconds
(D) 4-8 seconds

71. Simplify:

g6 . B

carin which Dis -

(iii) B €38 C G2 ST P13 1 G o
D 3¢ Stz | g

(iv) F T G fSrs G (et 4
7@ A 9% E 93 X e G T3
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(B) C9R D

(C) BER D
(D) E @=% B

(A) 6 TS 55—-- é
(B) 5-8 CT®
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’t’ 73. The Universities Act was enacted during

the Viceroyalty of y
: (A) Canning e
(B) Curzon | (A) W@-’:
(C) Elgin ; )
(D) Reading ‘/(C) Gzfoie
(D) e

5 minutes after walking every distance meaSurmg
5 kms. When will Sayak reach B?

(A) Atll am.
(B) At 10 mins. past 11 a.m. (B) @t 11751 10 RfAes

(C) At20 mins. past 11 a.m. (C) @&t 1151 20 e
(D) At 25 mins. past 11 a.m. | (D) @ 1151 25 fifae

M|WWBN (ARE 2
(A) @ 11517




are respectively 8', ¢’ and (2\/ﬁ )' . What is the

length of the Tongest iron rod that can be kept
inside this room?

(A) (1243 )
® (143 )’

(@) 12
D) 11

78. A completes of awork in 14 days. Then

he takes the helps of B and completes theremaining
work in 2 days more. In how many days can B
alone complete the work? '

(A) 16 days
- (B) 14 days
(C) 12 days

" 77. The length, breadth and height of a room ‘

(2J’“ ) 1R B ST m'ﬁm |
14| AT, i O7e S R
@y (1243) 1
oy (165)

(c) 12
I)) 11 |

(A) 16 i
(B) 14 faes
(C) 12 Tt
D) 1010




80. Among the supply side measures to contain
inflation is

(A) postponing public expenditure,

(B) mopping up excess liquidity through
taxation.

(C) credit control measures of RBI.

(D) mamtammg price levels through an
effective PDS.

_—

81. Rahim travelled a distance of 45 kms

in 4 hours. He travelled partly on foot at the rate of

8 kms per hour and the rest on bicycle at 16 kms pex
hour. How muchdistance did he travel on bicycle?
(A) 26 kms.
(B) 73 km\
(C) 22 kms.
(D) 19 kms.

darc

82. (i) Kailash, Govind and Harinder
intelligent.
(i) Kailash, Rajesh and Jitendra
hardworking.
(iii) Rajesh, Harind
honest.
(iv) Kailash, Govil
ambitious.
Which of the following
hardworking nor ambitious?
(A) Kailash
(B) Govind
(C) Harinder
(D) Rajesh

are
er and Jitendra are
1d and Jitendra are

person is neither

D-21
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84. 1stJanuary,2004 was Thursday.3rd March,
2004 was—
(A) Monday
(B) Tuesday
(C) Wednesday
(D) Thursday

85. Ayanworking for2daysand Sayan working

for 3 days complete % of a work. Agai
working for 3 days and Sayan working f

complete % of the work. How many more days

Sayan will take than Ayan to complete the work, if
they work separately?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

86, The Right to Information Act came into

% (B) T

© A3
/(D)ﬁ

84. 2004 AT 1st SR
2004 AR 3rd N6 fBF—

(A) G

LA B {w«w.

(D) =™

FEH TS SHET (AT FOMA (& AN 2
(A) 5fae )
(B) 10
— : h
(€) 15w

~ o - e
O - ol H R T N
T ] T W | g A W SR ,




-

(D) No loss or gain

88. Choose the odd word:
(A) Bake
(B) Peel
- (C) Fry
(D) Boil

89. A blacksmith has five iron articles A, B, C.
D and E, each having a different weight.

(i) A weighs twice as much as B.
(i) B weighs four and a half times as much

ad

as C.

(iii) C weighs half as much as D.
(iv) D weighs half as much as E
(v) E weighs less than A but m

Which of the following is the lightest in
‘weight?

(A) A
(B)B
©C
(D)D

.

(A) Bake
/m/P:;
(& Fry

(D) Boil




-(A) 5 km West

(B) 7 km West
(C) 7 km East
(D) 5 km North-east

92. The Congress Socialist Party (CSP) was
formally started at a conference in May 1933 in

(A) Bengal
(B) Bombay
(C) Bihar

(D) Assam

93. Who discovered Bacteria?
(A) William Harvey
(B) Louis Pasteur
(C) Edward Jenner
(D) Leeuwenhock

94, fA:B=3:4and B:C=06:5, then

determine the value of A : C.
(A) 3:4
(B) 6:5
(C) 9:10
D) 1:2

95. Undelf whose prcsxdency was the Lahore
: Iﬂﬁm National Congress was held

92, 1933 It G A ©
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Bengal’s Sorrow?

97. Which river in W. Bengal is descnbed as

(A) Kangsabati :
- (B) Ganga '
(C) Damodar
(D) Subarnarekha

98. Locate the wrongly matched:

(A) India © —  Kabaddi
(B) Russia — Chess
(C) USA — Basketball
(D) England — Cricket

99. A boat covers a distance of 1
6 minutes in downstream and a distance of
1 hour in upstream. Determine the speed of the
stream.

(A) 182 kms/hr.
(B) 188 kms/hr.
(C) 8 kms/hr.
(D) 2 kms/hr.

Which one of the followmg Himalayan

s was reOpened in 2006 to facilitate trade

e ewy |
(A) 182 f/=51 b
®) REES o —
(C) 8 ffirad
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